Chapter 9      Slinky Test       Name ________________________
A positive pulse is the crest half of the wave, while a negative pulse is the trough part of the wave.

1.
A single (with same length) positive pulse is sent at the same time from each end of the slinky.


a.
Did one pulse pass through the other or did one reflect from the other? (1) Describe what was done to verify the answer. (2)


b.
Describe what you saw when the two pulses were at the same point on the slinky. (2)


c.
Describe what happened to the midpoint of the slinky as the pulses either passed through one another or reflected off each other. (2)


a.
Yes___  No___



____________________________________________________________________________________________________



____________________________________________________________________________________________________



____________________________________________________________________________________________________


b.
____________________________________________________________________________________________________



____________________________________________________________________________________________________



____________________________________________________________________________________________________


c.
____________________________________________________________________________________________________



____________________________________________________________________________________________________



____________________________________________________________________________________________________

2.
A single (with same length) negative pulse is sent at the same time from each end of the slinky. Answer part ‘b’ and ‘c’ of question 1.  (2)    (2)


b.
____________________________________________________________________________________________________



____________________________________________________________________________________________________



____________________________________________________________________________________________________


c.
____________________________________________________________________________________________________



____________________________________________________________________________________________________



____________________________________________________________________________________________________

3.
A single (with same length) positive pulse is sent at the same time from one end as a negative pulse (with same length) is sent from the other. Answer part ‘b’ and ‘c’ of question 1.  (2)   (2)


b.
____________________________________________________________________________________________________



____________________________________________________________________________________________________



____________________________________________________________________________________________________


c.
____________________________________________________________________________________________________



____________________________________________________________________________________________________



____________________________________________________________________________________________________

   __

   15

4.
You were asked to simultaneously generate waves of equal frequency and amplitude from each end of the spring until the slinky maintained a fixed pattern. 


a.
What was each person doing? (2)



____________________________________________________________________________________________________



____________________________________________________________________________________________________



____________________________________________________________________________________________________


b.
What type of pattern had you created?  (2)



____________________________________________________________________________________________________



____________________________________________________________________________________________________



____________________________________________________________________________________________________


c.
When you increased the frequency until you got of different fixed pattern, how did this fix patter compare to the previous one. (2)



____________________________________________________________________________________________________



____________________________________________________________________________________________________



____________________________________________________________________________________________________

5.
Finally, one person was asked to hold their end steady while the other person generated a wave. 

a. Were you able to generate a pattern similar to that seen in #4? _____ (1)


b.
Describe what was happening to produce the pattern. (2)



____________________________________________________________________________________________________



____________________________________________________________________________________________________



____________________________________________________________________________________________________

6.
In the fixed pattern you obtained in #4 and #5, how is the wavelength determined? (2)



____________________________________________________________________________________________________



____________________________________________________________________________________________________



____________________________________________________________________________________________________

___
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